

\mathcal{B} ratio	Value
$\mathcal{B}(B^+ \rightarrow \pi^+ K^+ K^-)/\mathcal{B}(B^+ \rightarrow K^+ K^+ K^-)$	$0.151 \pm 0.004 \pm 0.008$
$\mathcal{B}(B^+ \rightarrow K^+ \pi^+ \pi^-)/\mathcal{B}(B^+ \rightarrow K^+ K^+ K^-)$	$1.703 \pm 0.011 \pm 0.022$
$\mathcal{B}(B^+ \rightarrow \pi^+ \pi^+ \pi^-)/\mathcal{B}(B^+ \rightarrow K^+ K^+ K^-)$	$0.488 \pm 0.005 \pm 0.009$
$\mathcal{B}(B^+ \rightarrow K^+ K^+ K^-)/\mathcal{B}(B^+ \rightarrow \pi^+ K^+ K^-)$	$6.61 \pm 0.17 \pm 0.33$
$\mathcal{B}(B^+ \rightarrow K^+ \pi^+ \pi^-)/\mathcal{B}(B^+ \rightarrow \pi^+ K^+ K^-)$	$11.27 \pm 0.29 \pm 0.54$
$\mathcal{B}(B^+ \rightarrow \pi^+ \pi^+ \pi^-)/\mathcal{B}(B^+ \rightarrow \pi^+ K^+ K^-)$	$3.23 \pm 0.09 \pm 0.19$
$\mathcal{B}(B^+ \rightarrow K^+ K^+ K^-)/\mathcal{B}(B^+ \rightarrow K^+ \pi^+ \pi^-)$	$0.587 \pm 0.004 \pm 0.008$
$\mathcal{B}(B^+ \rightarrow \pi^+ K^+ K^-)/\mathcal{B}(B^+ \rightarrow K^+ \pi^+ \pi^-)$	$0.0888 \pm 0.0023 \pm 0.0047$
$\mathcal{B}(B^+ \rightarrow \pi^+ \pi^+ \pi^-)/\mathcal{B}(B^+ \rightarrow K^+ \pi^+ \pi^-)$	$0.2867 \pm 0.0029 \pm 0.0045$
$\mathcal{B}(B^+ \rightarrow K^+ K^+ K^-)/\mathcal{B}(B^+ \rightarrow \pi^+ \pi^+ \pi^-)$	$2.048 \pm 0.020 \pm 0.040$
$\mathcal{B}(B^+ \rightarrow \pi^+ K^+ K^-)/\mathcal{B}(B^+ \rightarrow \pi^+ \pi^+ \pi^-)$	$0.310 \pm 0.008 \pm 0.020$
$\mathcal{B}(B^+ \rightarrow K^+ \pi^+ \pi^-)/\mathcal{B}(B^+ \rightarrow \pi^+ \pi^+ \pi^-)$	$3.488 \pm 0.035 \pm 0.053$